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header2 'Adverse Events';
header2 = 'Adverse Events';
title2 'Adverse Events';
title2 = 'Adverse Events';

oow>

Correct Answer: C

QUESTION 47
From the Statistical Analysis Plan, patients age is calculated as an integer relative to date
randomized divided by 365.25. Given the following annotated CRF:

Date of birth |I | | | | | | . !GIRTHDT

Liay tdomTh TE [l

Sex IM]: Maie
SEX (SEX)

[Fl_ _ Female

RANDOMISATION NUMBER RAND

Record randomsahan nimbes

[TTTT "|F~.‘ﬁNDNUM

Ciate of tancammation || !___J_]____.__ RANDDT

By Aoty [N T]

Which programming code defines the patient's age?

A. age= int(yrdif(birthdt,randdt, "act/365.25" ));
B. age = int((today()-birthdt)/365.25);
C. age = int((randdt-birthdt)/365.25);
D. age = int((birthdt-randdt)/365.25);

Correct Answer: C

QUESTION 48
Given the following log entry:
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47 data hratea ;

43 merge din hr
ga oy 3upjid
50 run

INFO: The variable sexwcd on data set WORK.DM will be overwritten by data set WORK.HR,

NOTE: There wmers 4 ohservations read frowm the dara 3er WORE. DA
NOUTE: Theps were 4 obaervarnlons read Ixom The dacs et WORK, HE,
NOTE: The dara ser UORK. HEATES haf 4 obaervations and 4 varilables.
NOTE: DATA aratement uged (Total provess time):

raal £lge 0,08 zeconds
TPl Ll 0.0L =econds

Which SAS system option adds the blue highlighted lines to the log?

A.
B.
C.
D.

MSGLEVEL=I
NOTES

INFO
INVALIDDATA="'

Correct Answer: A

QUESTION 49
Given the file sites.csv:

Investigator Name,3tare, Specialey,Visic Fee
"Jones, Thomas",NJ,Pediatrics, 60
"Emith, Mary"™,N3,Gynecology, 120
"Kwnar, Sanjay"™,DE,Pediatrics, 8L

A SAS program is submdted and produces the followang log entry.

data x¥zites ;

2 infile 'sites.csv' dlm=',' d=ad ;
3 input investigator name [ state § specialty § visit fee
4 run

NOTE: The infile '=zites.czv' 13!
File Name=C:)5&S Evam) Dacal\sites.csav,
FECFR=V, LFECL=258

NOTE: Invalid data for vigil_fee in line 1 33-43.
RULE: e B ety L L TR B e e e e S T L LR Y ELt
1 Investigator Wame, State, Specialty Visit Fee 43
inveéstigator name=Investig stale=State specialty=Specialt visit fee=. ERROR =1 N =1
NOTE: 4 records were read Irom the Lnflle 'sires.cav'.

The minimum record lengrh was 32,

The maximum record lengrh was 43,
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Which option would you need to add to the INFILE statement to clear the notes from this log?
A. firstobs=2

B. missover

C. Irecl=2

D. start=2

Correct Answer: A

QUESTION 50
Given the data set WORK.BP with the following variable list:

B Vaciable  Type  lLen  label

l DILEF M B Diastolic Blood Fressure
i PTG Char i Patient Number

3 3YIBP Num g Systolic Blood Freasure

The following SAS program i¢ submitted:

ods zelact Extremelhbs;

proc univarisate data=wWORE.BP;
var DIABP:
id PTNO:

run;

Which output will be created by the program?
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Extreme Observations

Lowwvost HIEI'IE st

value | Obs | value | Obs

68 190 119 | 51

Extrame Observations

Lowest H:Eheat

Value | PTNO | Obs | value | PINO | Obs
68 | 6007 130 119 | 27110 | 51

o w>

Extreme Observations |
Lowest Highest
Mae | Dbs | Ve | Ghs |
62 129 112 60
63 8 114 q |
63 111 114 147
65 12 115 187
608 190 119 51 |
L.
Extreme Ubservations
Lowest ! Highest
Value | PINO | Obs J Value | PINO | Obs
62 | 5023 | 129 | 112 | 3020 60
63 | 1890 | B8l 114l 1701 4
63 | 5029 [ 133 [ 114 5109 | as
By | 22000 22| 115 | 8077 287
Y- 007 | 150 _I 119 A710) 51
Option A
Option D
Option B
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D. Option C
Correct Answer: B

QUESTION 51
Given the following data at WORK DEMO:

FTID Hex Loe Height Weight
457892 B 14 65.0 112.5%
464389 F 13 56.5 4.0
478865 F 13 £5.3 58,0
483476 F 14 62.8 102.5
423847 H 14 63.5 102.5
sonoz9 N 12 £7.3 83.0
S1z842 F 12 £5.8 24,5
515151 F 15 €2.5 112.5

223596 | 13 62.5 84.0
CEL W N 12 59.0 99.5%
536777 F 11 £1.3 50,5
546823 F 14 69,3 .0
556877 F 12 56,3 77.0
565559 F 15 66.5 112.0
S7szad N 1e Te.0 150.0
635445 M 12 64.8 128.0

Which SAS program prints only the first 5 males in this order from the data set?

A proc sort data=WORK.DEMO out=out:

by sex:

rn:

proc print data= out (obs=5):

run:

proc print data=WORK.DEMO(obs=5):
where Sex="M"

run:
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